AHLFOHER

BATEA B TH4 CGEBA) T CEBHIR) RS F (%&) HEE
RE.4.17 [HRISERE  ARF/NARIZ A7 T 7 R R5.4.20 ~ R5.5.19 é600 000 |[EEEEEEKRA ST
R5. 4. 17 E%Ei&f ZEPFRIEN AR T T U v REfii | R5.4.20 ~ R5.5.19 6, 545, 000 |iEiEtEfE R
R5. 4. 17 éI\iSETE T O 1 KEA—% —BUF T3 | R5.4.20 ~ R5.11.30 3,256,000 IR =EHpE=
R5.4.17 | FAGHFRE  MHEHZ D 2 KE A — % —HUF 9| R5.4.20 ~ R5.11.30 3,091,000 [BRAtt BizKaE
RE. 4. 17 |FHIGHLEE T2 D 37K A — & —HUF L% | R5.4.20 ~ R5.11.30 3,113,000 (A FR=H: vEid&M)E
R5. 4. 17 |[FHAIGHFEE 5 AdKE A —F — B T R5.4.20 ~ R5.11.30 3,091,000 [AFR=H # b v EGGR
R5. 4. 17 |[FHIGHFEE  PEHIKE A — &% — U L5 R5.4.20 ~ R5.11.30 2,992,000 ARzt HEFER T
R5.4.17 |[FHISHFE  FEMEIKE A — & — B L R5.4.20 ~ R5.11.30 3,003,000 |HIR=ME D=
R5.4.17 |GANGEEE  RHT/KE A — & — R L8 R5.4.20 ~ R5.11.30 3,113,000 |58 LA RS
R5.4.17 |GANGEEE AR - WP MEAKE A — 2 —BUF | R6.4.20 ~ R5.11.30 1,826,000 [FIREHE  #OLKIE THIE
R5. 4. 17 i%%ﬁfﬁ LA K A — & — B L& R5.4.20 ~ R5.11.30 1,650,000 [FR=Ntt  EidfE
R5.4.17 |HFIGEE RAKBEHBRAMN KRR ESETH| R5.4.20 ~ R5.7.20 1,815,000 [ReNrt  BTB/KIE
R5. 4. 17 @%Iugﬁrﬁ A HRFRSAG R v Z — RS | R5.4.20 ~ R5.8.31 2,959,000 \AIR=HE vE &5
R5.4.25 |[HAISEE FEHT4 TH 1 FisE R TF R5.4.28 ~ R5.10.20 25, 454, 000 |ALABBHFS Rt
R5.4.25 |BFIGHFE 7 L kIR R B EERIEA2 | R5.4.28 ~ R5.10.31 23,760,000 |BRxUaxtl = JLpg ek

P RFFmib T
R5.4.25 |FAIAFESRE  JEXHIMAEEEHA TH () | R5.4.28 ~ R5.6.20 9,570,000 |HIR=FE  fEAEERR

1/2 R—2 =S ET




AHLFOHER

HATAEA H THA CGER4) TH CEBHIR) %%:%{j{zfﬁé(ﬁm a4
==K VAN
R5.4.25 |[SAIGMEE FIET4 TH 1 SlAKEEAMRIZE TS| R5.4.28 ~ R5.9.29 13,530, 000 |[HRRSF:  EFEL T
R5. 4. 25 %$5$f§ EH 4 2 FERAL T KESEEIH| R5.4.28 ~ R5.6.20 4,400, 000 |EE%EHE RS
T

2/2 R—T



